General instructions for Students: Whatever be the notes provided, everything must
be copied in the Mathematics copy and then do the HOMEWORK in the same copy.

CLASS — VIII MATHEMATICS

ALGEBRAICEXPRESSIONS AND IDENTITIES

1. (a+ b)? = a® +2ab + b? 2. (a—b)? = a? - 2ab + b?
3. (a+ b)(a—b) = a* — b? 4, (x+a)(x+b)=x*+(a+b)x+ab

EXERCISE — 10.5

3.(iii) Find (VZa++3b) [(a+b)? = a’+2ab+b? |
Solution : (VZa++3b)" = (VZa)" +2(v2a)(V3b) + (vV3b)"
= 2a? + 2V6ab + 3b? Ans.
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Solution : (2—x—3—y) =
3y 2x

(2—;)2—2(2—;)(;—1)%%)2 [(a—b)? = a® — 2ab + b?]
7@ (Za=t) - (fado)
Solution : (%a—;b)z— (;a—%b)z [ (a+ b)(a—b) = a*? — b?]
7 5 5 7 7 5 5 7
= (3e-30+39-32){(ze-3?)-(3a-27))
= {G+3)a-G+)pHG-3)a+(G-3)b}

7 5

= G+3)@-b (G-3)@+b)
=  6(a%-b?)(1)

= 6a* — 6b> Ans.



8.(iii) Showthat: (p—-q@P+qQ+(@q@-1(@q+r)+@T—-p)T+p)=0

Solution: L.HS. (p—q@p+q+(@—-7r)(q+r)+ @ —p)(r+p)

= P*-»)+ (@ -r)+@*-p?H)

= P’ —@®+q*—1®+1%—p?

= 0 RHS. Proved.

14. If a* + b?> = 41 and ab = 4, findthevaluesof (i) a+b (ii) a—b

Solution : We know that  (a + b)?
= (a+b)?
=  (a+b)?
= (a+b)

= (a+b)

a’ + b% + 2ab

41 +2(4)
49

+ v49
+ 7

We know that (a— b)? = a® + b* — 2ab

=  (a—Db)?

=  (a—-b)?

= (a—b)
HOMEWORK

EXERCISE —10.5

Ans.

[ a2+ b? =41 and ab = 4]

41-2(4) [ad?>+b?>=41 and ab=4]
33
+ v33 Ans.

QUESTION NUMBERS : 1(i), (iv); 2(vi), (vii); 4 (i), (ii); 7(i), 8(ii), 9 and 12



